A £ 0l & AF & S

20233 =0lat S22 0II=SESH M

Al A

FA F2US
B HASE 40 F B4 £
oel: HASE 92301 N (SE)(ARSODISSH) (o) @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fe=X 516,338 585,768 69,430
= 77,707
== 26,844
[Ea 41,787
MASE &2 2 g4 &2 505,123 520,132 215,009
= 77,707
< 26,844
= 400,572
NASE 2aas0 NA(SE)(A=S0II=SEH) 505,123 520,132 ~15,009
= 77,707
== 26,844
o 400,572
lS2g &l B8 398,572 395,156 3,416
308 AFAIEHMSOIE 398,572 395,156 3,416
07 AX 2L FE= 398,572 395,156 3.416
O2220 Alz2dl | 398,572
S22 0AIE &I 7,418 8,670 A1,252
= 7,418
201 =3 4,270 4,270 0
[ 4,270
01 AtR2t2|HI 4,270 4,270 0
O=84l & 23+¢ 4,270
=S 4,270
202 04l 2,748 4,000 A1,252
= 2,748
01 =LHO LI 2,748 4,000 A1,252
OZ&0it| 2,748
S 2,748
301 LEtE NS 400 400 0
S 400
14 JIEt 2 a3 400 400 0
ORFET 4NN 400
= 400
S=20A 71,516 88,566 A17,050
= 57,213
[ 14,303
301 LEtE N = 68,516 85,566 A17,080
= 54,813
= 13,703
01 Al EE A S(FRDEXA) 68,516 85,566 A17,050
OFMAZZD(I], |, M ESLXSHIS 68,516
= 54,813
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FA F2US
B HASE 40 F B4 £
S9l: HASS C230f KW (SY)(A230ISSLEN) (cre): xg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 13,703
307 21201 & 3,000 3,000 0
= 2,400
= 600
01 22X 2| 3,000 3,000 0
O=22g == 3,000
= 2,400
=S 600
A EF X 25,617 25,740 A123
= 20,494
< 5,123
301 EetE2 NS 25,617 25,740 A123
= 20,494
= 5,123
14 0Bt 2as 25,617 25,740 A123
AL SR 25,617
= 20,494
= 5,123
(Gla1a]] 2,000 2,000
801 OfielH 2,000 2,000 0
01 Letolblbl 2,000 2,000 0
Ooullblbl 2,000
Hegs (==X 11,215 11,215 0
SHNE(A=2SHIISSLEA) 11,215 11,215 0
2Xz gta 11,215 11,215 0
802 grat=DIE 11,215 11,215 0
02 Al - SHIEESBHE = 11,215 11,215 0
OkHIExZ BHets 11,215
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